# UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

## FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of April, 2016 Commission File Number 1-15250

### **BANCO BRADESCO S.A.**

(Exact name of registrant as specified in its charter)

### **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-F \_\_\_\_X Form 40-F \_\_\_\_\_

Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.

Yes \_\_\_\_\_ No \_\_\_X\_\_\_\_

In March 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

#### (x) Controller's

**Group and Family Dependants** 

	Openning Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357 Closing Balance	73.0632 2.2559	36.5316 1.1279
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	1,844,382,928 56,949,357	73.0632 2.2559	36.5316 1.1279

In March 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Group and Family Dependants	(x)Board of Directors	( ) Board of Executive Officers	() Audit Committee	()Technic Advisory Ag	
	Openning I	Balance			
				% of partic	ipation
Type of Securities/I	Derivatives		Quantity	Same type of Shares	Total
Common Shares			15,179,982	0.6013	0.3006
Non-Voting Shares			24,455,762	0.9687	0.4843
	Closing B	alance			
				% of partic	ipation
Type of Securities/I	Derivatives		Quantity	Same type of Shares	Total
Common Sha	ares		15,179,982	0.6013	0.3006
Non-Voting St	nares		24,455,762	0.9687	0.4843

Company: Bradesco Leasing S.A. Arre Group and Family Dependants	endamento Me (x)Board of Directors Openning B	() Board of Executive Officers	()Audit Committee	()Technic Advisory A		
				% of partic	ipation	
Type of Securities/Derivatives			Quantity	Same type of Shares	Total	
Common Sha	res		0	0.0000	0.0000	
Non-Voting Sh	ares		0	0.0000	0.0000	
Closing Balance						

% of participation

Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Brad	lesco S.A.						
Group and Family Dependants	( )Board of Directors	(X) Board of Executive Officers		()Audit Committee		() Technical and Advisory Agencies	
		Openning B	alance				
						% of participation	
Туре	of Securities/De	erivatives		Quant	ity	Same type of Shares Total	
	Common Shar	es		1	38,502	0.0054 0.0027	
	Non-Voting Sha			3,1	01,279	0.1228 0.0614	
		Month Move	ement				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$	
Common Shares		Buy	7-Mar	300	27.63	R\$ 8,289.00	
Common Shares		Buy	7-Mar	400	27.66	R\$ 11,064.00	
Common Shares		Buy	7-Mar	600	27.67	R\$ 16,602.00	
Common Shares		Buy	7-Mar		27.68	. ,	
Common Shares		Buy	7-Mar	,	27.70		
Common Shares		Buy	28-Mar	1	30.78	•	
Common Shares		Total		3,001		R\$ 83,069.78	
Non-Voting Shares		Buy	30-Mar				
Non-Voting Shares		Buy	28-Mar	2	27.60	•	
Non-Voting Shares		Total		12		R\$ 336.00	
Common Shares		Sell	14-Mar	1,400			
Common Shares		Sell	14-Mar	,			
Common Shares		Sell	14-Mar	,		. ,	
Common Shares		Sell	14-Mar	,		. ,	
Common Shares		Sell	14-Mar	,			
Common Shares		Sell	14-Mar	,			
Common Shares		Sell	14-Mar	1,300			
Common Shares		Sell	14-Mar	3,500			
Common Shares		Sell	14-Mar	3,300		R\$ 99,363.00	
Common Shares		Sell	14-Mar	3,800	30.12	R\$ 114,456.00	

Common Shares	Sell	14-Mar	4,000		R\$ 120,520.00
Common Shares	Sell	14-Mar	1,900	30.14	R\$ 57,266.00
Common Shares	Sell	14-Mar	4,200	30.15	R\$ 126,630.00
Common Shares	Sell	14-Mar	500	30.16	R\$ 15,080.00
Common Shares	Sell	14-Mar	300	30.17	R\$ 9,051.00
Common Shares	Sell	14-Mar	1,600	30.18	R\$ 48,288.00
Common Shares	Sell	14-Mar	1,400	30.19	R\$ 42,266.00
Common Shares	Sell	14-Mar	2,800	30.20	R\$ 84,560.00
Common Shares	Sell	14-Mar	2,700	30.21	R\$ 81,567.00
Common Shares	Sell	14-Mar	1,000	30.22	R\$ 30,220.00
Common Shares	Sell	14-Mar	200	30.23	R\$ 6,046.00
Common Shares	Sell	14-Mar	500	30.25	R\$ 15,125.00
Common Shares	Sell	17-Mar	20	30.32	R\$ 606.40
Common Shares	Sell	17-Mar	6,000	30.33	R\$ 181,980.00
Common Shares	Sell	17-Mar	500	30.34	R\$ 15,170.00
Common Shares	Sell	17-Mar	4,900	30.61	R\$ 149,989.00
Common Shares	Sell	17-Mar	92	31.00	R\$ 2,852.00
Common Shares	Total		62,012		R\$ 1,871,492.40
Non-Voting Shares	Sell	14-Mar	-	27.28	R\$ 270,072.00
Non-Voting Shares	Sell	14-Mar	13,654	27.30	R\$ 372,754.20
Non-Voting Shares	Sell	14-Mar	1,100	27.31	R\$ 30,041.00
Non-Voting Shares	Sell	14-Mar	2,700	27.35	R\$ 73,845.00
Non-Voting Shares	Sell	14-Mar	15,400	27.36	R\$ 421,344.00
Non-Voting Shares	Sell	14-Mar	10,000	27.38	R\$ 273,800.00
Non-Voting Shares	Sell	14-Mar	55	27.33	R\$ 1,503.15
Non-Voting Shares	Sell	14-Mar	10,001	27.34	R\$ 273,427.34
Non-Voting Shares	Sell	14-Mar	4,100		R\$ 112,135.00
Non-Voting Shares	Sell	17-Mar	11,000	27.31	R\$ 300,410.00
Non-Voting Shares	Sell	17-Mar	3,300	27.28	R\$ 90,024.00
Non-Voting Shares	Sell	17-Mar	18,006	27.10	R\$ 487,962.60
Non-Voting Shares	Sell	17-Mar	900	27.12	R\$ 24,408.00
Non-Voting Shares	Sell	4-Mar	3,100		R\$ 82,212.00
Non-Voting Shares	Sell	4-Mar	6,300		R\$ 167,139.00
Non-Voting Shares	Sell	4-Mar	600		R\$ 15,924.00
Non-Voting Shares	Sell	4-Mar	10,000	26.70	R\$ 267,000.00
Non-Voting Shares	Sell	11-Mar	76	26.54	R\$ 2,017.04
Non-Voting Shares	Sell	11-Mar	12,700	26.56	R\$ 337,312.00
Non-Voting Shares	Sell	11-Mar	200	26.86	R\$ 5,372.00
Non-Voting Shares	Sell	4-Mar	1,000	26.00	R\$ 26,000.00
Non-Voting Shares	Sell	4-Mar	1,000	26.15	R\$ 26,150.00
Non-Voting Shares	Sell	4-Mar	1,000	26.20	R\$ 26,200.00
Non-Voting Shares	Sell	17-Mar	1,300	26.75	R\$ 34,775.00
Non-Voting Shares	Sell	4-Mar	5,600	26.06	R\$ 145,936.00
Non-Voting Shares	Sell	4-Mar	1,000	26.07	R\$ 26,070.00
Non-Voting Shares	Sell	4-Mar	400	26.08	R\$ 10,432.00
Non-Voting Shares	Sell	4-Mar	3,000	26.15	R\$ 78,450.00
Non-Voting Shares	Sell	4-Mar	4,000	26.20	R\$ 104,800.00
Non-Voting Shares	Sell	3-Mar	4,000	23.70	R\$ 23,700.00
Non-Voting Shares	Sell	3-Mar	1,000	23.70	R\$ 23,750.00
•	Sell	3-Mar 3-Mar	1,000		
Non-Voting Shares	Sell	3-Mar 3-Mar		23.80 23.85	R\$ 23,800.00
Non-Voting Shares	Sell	J-IVIAI	1,000	20.00	R\$ 23,850.00

Non-Voting Shares	Sell	3-Mar		23.90	R\$ 23,900.00
Non-Voting Shares	Sell	3-Mar	500	24.07	R\$ 12,035.00
Non-Voting Shares	Sell	3-Mar	500	24.20	R\$ 12,100.00
Non-Voting Shares	Sell	3-Mar	500	24.30	R\$ 12,150.00
Non-Voting Shares	Sell	3-Mar	1,000	24.40	R\$ 24,400.00
Non-Voting Shares	Sell	3-Mar	500	24.60	R\$ 12,300.00
Non-Voting Shares	Sell	4-Mar	300	26.00	R\$ 7,800.00
Non-Voting Shares	Sell	4-Mar	100	26.20	R\$ 2,620.00
Non-Voting Shares	Sell	4-Mar	100	26.25	R\$ 2,625.00
Non-Voting Shares	Sell	4-Mar	600	26.30	R\$ 15,780.00
Non-Voting Shares	Sell	4-Mar	600	26.40	R\$ 15,840.00
Non-Voting Shares	Sell	4-Mar	500	26.50	R\$ 13,250.00
Non-Voting Shares	Sell	4-Mar	300	26.60	R\$ 7,980.00
Non-Voting Shares	Sell	4-Mar	200	26.70	R\$ 5,340.00
Non-Voting Shares	Sell	4-Mar	300	26.80	R\$ 8,040.00
Non-Voting Shares	Sell	4-Mar	200	26.86	R\$ 5,372.00
Non-Voting Shares	Sell	4-Mar	100	26.90	R\$ 2,690.00
Non-Voting Shares	Sell	21-Mar	47	27.90	R\$ 1,311.30
Non-Voting Shares	Sell	21-Mar	8,300	27.94	R\$ 231,902.00
Non-Voting Shares	Sell	4-Mar	97	26.60	R\$ 2,580.20
Non-Voting Shares	Sell	4-Mar	2,200	26.61	R\$ 58,542.00
Non-Voting Shares	Sell	4-Mar	2,400	26.62	R\$ 63,888.00
Non-Voting Shares	Sell	4-Mar	3,900	26.65	R\$ 103,935.00
Non-Voting Shares	Sell	4-Mar	600	26.66	R\$ 15,996.00
Non-Voting Shares	Sell	28-Mar	9,092	27.65	R\$ 251,393.80
Non-Voting Shares	Sell	28-Mar	1,900	27.66	R\$ 52,554.00
Non-Voting Shares	Sell	28-Mar	2,600	27.67	R\$ 71,942.00
Non-Voting Shares	Sell	4-Mar	<sup></sup> 95	26.71	R\$ 2,537.45
Non-Voting Shares	Sell	4-Mar	900	26.73	R\$ 24,057.00
Non-Voting Shares	Sell	17-Mar	19	27.60	R\$ 524.40
Non-Voting Shares	Sell	17-Mar	3,100	27.70	R\$ 85,870.00
Non-Voting Shares	Sell	17-Mar	1,900	27.71	R\$ 52,649.00
Non-Voting Shares	Sell	17-Mar	4,100		R\$ 113,816.00
Non-Voting Shares	Sell	3-Mar	800		R\$ 19,040.00
Non-Voting Shares	Sell	3-Mar	2,200	23.81	R\$ 52,382.00
Non-Voting Shares	Sell	4-Mar	3,200	26.20	R\$ 83,840.00
Non-Voting Shares	Sell	4-Mar	12	26.48	R\$ 317.76
Non-Voting Shares	Sell	4-Mar	2,031	26.20	R\$ 53,212.20
Non-Voting Shares	Sell	7-Mar	60	26.00	R\$ 1,560.00
Non-Voting Shares	Sell	7-Mar	6,800	26.17	R\$ 177,956.00
Non-Voting Shares	Sell	21-Mar	12,634	28.00	R\$ 353,752.00
Non-Voting Shares	Sell	18-Mar	42	27.14	R\$ 1,139.88
Non-Voting Shares	Sell	18-Mar	7,400	27.16	R\$ 200,984.00
Non-Voting Shares	Sell	17-Mar	5,000	27.00	R\$ 135,000.00
Non-Voting Shares	Sell	14-Mar	10,000	27.50	R\$ 275,000.00
Non-Voting Shares	Sell	28-Mar	1,982	27.50	R\$ 54,505.00
Non-Voting Shares	Sell	28-Mar	2,000	27.55	R\$ 55,100.00
Non-Voting Shares	Sell	1-Mar	2,000	21.94	R\$ 1,974.60
	Sell				
Non-Voting Shares		1-Mar	800	21.97	R\$ 17,576.00
Non-Voting Shares	Sell	17-Mar 2 Mar	1,000	27.66	R\$ 27,660.00
Non-Voting Shares	Sell	3-Mar	40	23.80	R\$ 1,071.00

Non-Voting Shares	Sell	30-Mar	8	28.76	R\$ 230.08
Non-Voting Shares Non-Voting Shares	Sell	30-Mar	2,300	28.75	R\$ 14,960.00 R\$ 66,125.00
Non-Voting Shares	Sell	30-Mar	8	28.76	R\$ 230.08
Non-Voting Shares	Sell	3-Mar	820	23.08	R\$ 18,925.60
Non-Voting Shares	Sell	17-Mar	4	27.22	R\$ 108.88
Non-Voting Shares	Sell	17-Mar	40	27.24	R\$ 1,089.60
Non-Voting Shares	Sell	17-Mar	3,100	27.25	R\$ 84,475.00
Non-Voting Shares	Sell	17-Feb	700	27.36	R\$ 19,152.00
Non-Voting Shares	Sell	4-Mar	40	26.50	R\$ 1,060.00
Non-Voting Shares	Sell	4-Mar	19	26.51	R\$ 503.69
•	Sell	4-Mar	4,800	26.62	R\$ 127,776.00
Non-Voting Shares					
Non-Voting Shares	Sell	4-Mar	100	26.63	R\$ 2,663.00
Non-Voting Shares	Sell	7-Mar	96	26.01	R\$ 2,496.96
Non-Voting Shares	Sell	7-Mar	9,100	26.10	R\$ 237,510.00
Non-Voting Shares	Sell	7-Mar	1,600	26.11	R\$ 41,776.00
Non-Voting Shares	Sell	7-Mar	72	26.25	R\$ 1,890.00
Non-Voting Shares	Sell	7-Mar	2,200	26.27	R\$ 57,794.00
Non-Voting Shares	Total		300,789		R\$ 8,065,976.57
-	Closing	Balance	-		
	- 5				% of participation
Type of See	uritica/Darivativaa		Quanti	+\/	Some type of

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares Non-Voting Shares	79,491 2,737,890	

#### Note:

Members who left the Board of Executive Officers :

Jorge Pohlmann Nasser

In March 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Company. Banco Bradesco C.A.				·· <b>-</b> · ·		
Group and Family Dependants	( )Board of Directors	() Board of Executive Officers	(X) Audit Committee	( ) Technic Advisory Aç		
	Openning E	Balance				
				% of partici	pation	
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total	
Common Shares			30,471	0.0012	0.0006	
Non-Voting Shares			443,758	0.0175	0.0087	
Closing Balance						
				% of partici	pation	
Type of Securities/D	erivatives		Quantity	Same type of Shares	Total	
Common Sha	ires		30,471	0.0012	0.0006	
Non-Voting Sh	ares		443,758	0.0175	0.0087	

#### Note:

New member who belong to the Audit Committee Ariovaldo Pereira

#### Note:

Members who left the Audit Committee : Nelson Lopes de Oliveira

In March 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Company. Danco Dradesco S.A.		~ <b>.</b>		· · <b>-</b> · ·		
Group and Family Dependants	( )Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory Ag		
	Openning E	Balance				
	1 0			% of partic	ipation	
Type of Securities/E	Derivatives		Quantity	Same type of Shares	Total	
Common Shares			1,540	0.0000	0.0000	
Non-Voting Shares			3,976	0.0001	0.0000	
-	Closing Balance					
	-			% of partic	ipation	
Type of Securities/E	Derivatives		Quantity	Same type of Shares	Total	
Common Sha	ares		1,540	0.0000	0.0000	
Non-Voting Sh	nares		3,976	0.0001	0.0000	

Company:	Banco Brades	co S.A.			
	Banco Bra	idesco			
Name:	S.A.	CPF/	/CNPJ: 60.746.948/0001-12		
Qualificatior	n: Treasury				
	-		Openning Balance		
			% of participat	ion	
Type of Sec	curities/Derivati	ves Quantity	Same type of Shares		Total
Com	mon Shares	4,159,132		0.1647	0.0823
Non-V	oting Shares	15,583,262		0.6173	0.3086
	U		Closing Balance		
			% of participat	ion	
Type of Sec	curities/Derivati	ves Quantity	Same type of Shares		Total
Com	mon Shares	4,159,132		0.1647	0.0823
Non-V	oting Shares	15,583,262		0.6173	0.3086

Company: Banco Bradesco S./ 2bCapital	Α.		
Name: Participações Lte Qualification: Controlled / Related		F/CNPJ: 11.814.208/0001-60 v	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Brade Name: 2bCapita Qualification: Controlled /	al S.ACPF/CI	NPJ: 07.063.675/0001-29 Ipany		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000	0.0000 0.0000
5		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A. ADC Bradesco - Assoc	iação		
Name: Desportiva Classista Qualification: Controlled / Related Cor	CPF/C	NPJ: 51.244.101/0001-49	
	Ópenning	Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
	Closing E	alance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.0000

Company: E	Banco Bradesco S.A.				
	Ágora Corretora de Títul	os e			
Name:	Valores Mobiliários S.A	CPF/CN	NPJ: 74.014.747/0001-35		
Qualification	: Controlled / Related Com	pany			
		Openning B	alance		
			% of participa	ation	
Туре с	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
Ν	Ion-Voting Shares	0		0.0000	0.0000
	-	Closing Ba	lance		
			% of participa	ation	
Туре с	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
Ν	Ion-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Ágora Educacion			
Name: Ltda	CPF/	CNPJ: 09.544.124/0001-02	
Qualification: Controlled / Related	Compan	Openning Balance	
		% of participation	
Type of Securities/Derivatives Q	uantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives Q	uantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco Aicaré Holdi				
Name: Ltda	ngs	CPF/CNPJ: 09.235.141	10001 69	
		GFF/GINFJ. 09.235.141	/0001-00	
Qualification: Controlled / Rel	• •			
	Op	penning Balance		
		% of participat	ion	
Type of Securities/Derivative	sQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3	C	losing Balance		
		% of participat	ion	
Type of Securities/Derivative	sQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Alvorada Administrad Name: Cartões Ltda Qualification: Controlled / Related Co		CPF/CNPJ: 01.382.421	/0001-97	
		ing Balance		
	-	% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0 <b>Clos</b> i	ng Balance	0.0000 0.0000	0.0000 0.0000
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Compan	y: Banco Bradesco S.A.				
	Alvorada Companhia Secu	uritizadora			
Name:	de Créditos Financeiros		CPF/CNPJ: 03.572.4	12/0001-94	4
Qualificat	ion: Controlled / Related Comp	any			
		Openning Bal	ance		
			% of participa	ation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing Bala	nce		
			% of participa	ation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Alvorada Serviços				
Name: Negócios Ltda	•	CPF/CNPJ: 50.991.421	/0001-08	
Qualification: Controlled / Related (	Company			
	Ope	nning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	sing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S Amapari Holdi				
Name: S.A	ingo	CPF/CNPJ: 15.012.678	/0001-61	
Qualification: Controlled / Related Company				
		enning Balance		
	90	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
ç	C	losing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	1/0001-00	
	1/0001-00	
Openning Balance		
% of participa	ltion	
ty Same type of Shares		Total
0	0.0000	0.0000
0	0.0000	0.0000
-		
0	tion	
	lion	
ty Same type of Shares		Total
0	0.0000	0.0000
	0.0000	0.0000
ti ( ( ti	Openning Balance % of participa tity Same type of Shares 0 0 Closing Balance % of participa	Openning Balance       % of participation         tity       Same type of Shares         0       0.0000         0       0.0000         0       0.0000         0       0.0000         0       0.0000         0       0.0000         0       0.0000         0       0.0000

Company: Banco Bradesco S Aporé Holding				
Name: S.A	<b>J</b> S	CPF/CNPJ: 15.011.651/	0001-54	
Qualification: Controlled / Relat	ted Company			
	Ċ	penning Balance		
		% of participati	on	
Type of Securities/Derivatives	Juantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	1	Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Juantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Aquarius Holding			
Name: Ltda	15	CPF/CNPJ: 04.866.440/0001-87	
Qualification: Controlled / Related	Compan	у	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives Q	Jantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
·		Closing Balance	
		% of participation	
Type of Securities/Derivatives Q	Jantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. Aranaú Holdings			
Name: S.A	CPF/CNPJ: 15.011.846/	/0001-02	
Qualification: Controlled / Related Con		0001 02	
	Openning Balance		
	% of participation	วท	
Type of Securities/DerivativesQuantity	Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000
	Closing Balance	0.0000	0.0000
	% of participation	211	
Type of Securities/DerivativesQuantity	/ Same type of Shares		Total
Common Shares 0		0.0000	0.0000
Non-Voting Shares 0		0.0000	0.0000

Company: I	Banco Bradesco S.A.	ativa dos		
Name:	ARFAB - Associação Recreativa dos Name: Funcionários da Atlântica-Bradesco Qualification: Controlled / Related Company		CPF/CNPJ: 42.413.153/0001	-00
Qualification	. Controlled / Melated Compa	Openning Balanc	e	
		- F- 5	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares Non-Voting Shares	0 0 Closing Balance	0.0000 0.0000	0.0000 0.0000
		closing bulance	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A Atlântica Compan			
Name: Seguros Qualification: Controlled / Related		CPF/CNPJ: 33.151.291/0001-78	
		penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco	S.A.			
Baíra Holding	ງຣ			
Name: Ltda		CPF/CNPJ: 10.429.085	/0001-81	
Qualification: Controlled / Rela	ated Company			
	0	penning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	(	Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades				
Banco Al	vorada			
Name: S.A		CPF/CNPJ: 33.870.163	/0001-84	
Qualification: Controlled /	Related Company			
		penning Balance		
	-	% of participati	on	
Type of Securities/Derivat	tivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5		Closing Balance		
		% of participati	on	
Type of Securities/Derivat	tivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Banco Boavista			
Name: Interatlântico S.A		CPF/CNPJ: 33.485.541/0001-06	
Qualification: Controlled / Related			
	Ol	penning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	7,904	0.0003	0.0001
Non-Voting Shares	7,585	0.0003	0.0001
	C	Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	7,904	0.0003	0.0001
Non-Voting Shares	7,585	0.0003	0.0001

Company: Banco	<b>D Bradesco S.A.</b> Banco Bradescard			
_	SA	CPF/CNPJ: 04.184.	779/0001-01	
	trolled / Related Com		775/0001 01	
Qualification. Con	ITOIIEU / Nelaleu Com			
		Openning Balance		
		% of partici	pation	
Type of Securitie	s/Derivatives Quantit	Same type of Shares		Total
Common S	Shares C		0.0000	0.0000
Non-Voting	Shares C		0.0000	0.0000
5		Closing Balance		
			nation	
		% of partici	pation	
Type of Securitie	s/Derivatives Quantit	Same type of Shares		Total
Common	Shares C		0.0000	0.0000
Non-Voting			0.0000	0.0000

Company: Bar	nco Bradesco S	.A.			
	Banco Bradesc	o BBI			
Name:	S.A		CPF/CNPJ: 06.271.464	/0001-19	
Qualification: C	ontrolled / Relate	ed Company			
		Ор	enning Balance		
			% of participat	ion	
Type of Secu	rities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000
		С	losing Balance		
			% of participat	ion	
Type of Secu	rities/Derivatives	Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Banco Bradesco			
Name: BERJ S.A	)	CPF/CNPJ: 33.147.315/0001-	15
Qualification: Controlled / Relate	d Compan		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.000 0.000
Non-Voting Shares	0		000 0.0000

Company: Banco Bradesco S./ Banco Bradesco			
Name: Cartões S.A		CPF/CNPJ: 59.438.325/0001-01	
Qualification: Controlled / Related	d Company		
		, Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. Banco Bradesco				
Name: Financiamentos S.A	١	CPF/CNPJ: 07.207.996	6/0001-50	
Qualification: Controlled / Related C	Company			
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Banco CBSS				
Name: S.A		CPF/CNPJ: 27.098.060/0001	1-45	
Qualification: Controlled / Related Company				
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.000.0	0.0000
Non-Voting Shares	0	(	0.0000	0.0000
Closing Balance				
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	C	0.000.0	0.0000
Non-Voting Shares	0	C	0.0000	0.0000

Company: Banco Bradesco S.A Baneb Corretora				
Name: Seguros S.A	ue	CPF/CNPJ: 14.560.304	4/0001-18	
Qualification: Controlled / Related	l Company			
	Open	ning Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Band					
	Bankpar Brasi	ł			
Name:	Ltda		CPF/CNPJ: 34.046.581/	0001-14	
Qualification: Co	ntrolled / Relate	ed Company	1		
			Openning Balance		
			% of participation	on	
Type of Securitie	es/DerivativesC	luantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
		-	Closing Balance		
			% of participation	on	
Type of Securitie	es/DerivativesC	luantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bankpar Consultoria	2.0			
Name: Serviços Ltda	16	CPF/CNPJ: 67.529.289	9/0001-01	
Qualification: Controlled / Related C	Company			
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Band					
	Barinas Holding	3			
Name:	S.A		CPF/CNPJ: 15.011.336/	0001-27	
Qualification: Co	ntrolled / Related	I Compar	ıy		
			Openning Balance		
			% of participation	วท	
Type of Securitie	es/DerivativesQu	lantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	o Shares	0		0.0000	0.0000
、	<b>y</b>		Closing Balance		
			% of participation	วท	
Type of Securitie	es/DerivativesQu	lantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000

Compai	ny: Banco Bradesco S.A.			
	BCN - Consultoria, Administr	ração de		
Name:	Bens, Serviços e Publicidade	e Ltda CPF/0	CNPJ: 52.842.408/0001-04	
Qualifica	ation: Controlled / Related Compar	ny		
		<b>Openning Balar</b>	nce	
			% of participation	
	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
		Closing Baland	ce	
		-	% of participation	
	Type of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

Company: E	Banco Bradesco S.A.				
	BEC - Distribuidora de Títi	ulos e			
Name:	Valores Mobiliários Ltda	CPF/0	CNPJ: 07.299.480/0001-82		
Qualification	: Controlled / Related Comp	any			
		Openning B	alance		
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
I	Non-Voting Shares	0		0.0000	0.0000
		Closing Ba	lance		
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
I	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Br	radesco S.A.				
BEM -	Distribuidora de Títu	llos e			
Name: Valores	s Mobiliários Ltda	CPF	/CNPJ: 00.066.670/0001-00		
Qualification: Controll	ed / Related Compa	iny			
		Openning I	Balance		
			% of particip	ation	
Type of Securi	ties/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
		Closing B	alance		
			% of particip	ation	
Type of Securi	ties/Derivatives	Quantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A BF Promotora de			
Name: Vendas Ltda		F/CNPJ: 02.038.394/0001-00	
Qualification: Controlled / Related	l Company	,	
	(	Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0000.0
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	0.0000
Non-Voting Shares	0	0.00	0.0000

Compar	ny: Banco Bradesco S.A.				
-	BMC Asset Management - D	istribuidora			
Name:	de Títulos e Valores Mobiliár	ios Ltda	CPF/CI	NPJ: 04.163.016/0001-76	
Qualifica	ation: Controlled / Related Compar	าง			
		Openning E	Balance	•	
				% of participation	
	Type of Securities/Derivatives	Quantit	У	Same type of Shares	Total
	Common Shares		0	0.0000	0.0000
	Non-Voting Shares		0	0.0000	0.0000
	Ũ	Closing B	alance		
		U		% of participation	
	Type of Securities/Derivatives	Quantit	у	Same type of Shares	Total
	Common Shares		0	0.0000	0.0000
	Non-Voting Shares		0	0.0000	0.0000
	-				

Company: Banco Bradesco S.A BMC Previdência				
Name: Privada S.A	-	F/CNPJ: 07.622.099/0001-02		
Qualification: Controlled / Related	d Company	/		
		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	(	0.0000	0.0000
Non-Voting Shares	0	(	0.0000	0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0	(	0.0000	0.0000
Non-Voting Shares	0	(	0.0000	0.0000

λ.			
	F/CNPJ: 07.131.760/0001-87		
Company			
C	Openning Balance		
	% of participati	on	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Closing Balance		
	% of participati	on	
Quantity	Same type of Shares		Total
0 0		0.0000 0.0000	0.0000 0.0000
	CPF Company Quantity 0 0 Quantity 0	CPF/CNPJ: 07.131.760/0001-87 Company Openning Balance % of participati Quantity Same type of Shares 0 Closing Balance % of participati Quantity Same type of Shares 0	CPF/CNPJ: 07.131.760/0001-87 Company Openning Balance % of participation Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation % of participation 0 0.0000

Company: Banco Bradesco S.A.				
Bpar Corretagem c Name: Seguros Ltda Qualification: Controlled / Related	CPF/C	NPJ: 43.133.503/0001-48		
		nning Balance		
	•	% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A				
BPS Participaçõe Name: Serviços Ltda Qualification: Controlled / Related	CPF/C	NPJ: 02.858.535/0001-23		
		ning Balance		
	•	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A Bradescard Elo				
Name: Participações S.A	CPF/C	CNPJ: 09.226.818/0001-00		
Qualification: Controlled / Related				
		nning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	sing Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Administrad	ora de			
Name: Consórcios Ltda		CPF/CNPJ: 52.568.82	1/0001-22	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Auto/RE				
Name: Companhia de Seguro	SS	CPF/CNPJ: 92.682.038	3/0001-00	
Qualification: Controlled / Related Co	mpany			
	Openni	ng Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closin	g Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Bradesco	Α.		
Name: Capitalização S.		CPF/CNPJ: 33.010.851/0001-74	
Qualification: Controlled / Relate	d Compan		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A. Bradesco Leasing S.A			
Name: Arrendamento Mercantil Qualification: Controlled / Related Com		CPF/CNPJ: 47.509.120/0001-82	
Qualification: Controlled / Related Cont		ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Name: Bradeso	<b>co Bradesco S.A.</b> co S.A. Corretora d ontrolled / Related	e Títulos e Val Company			CPF	/CNPJ: 61.855.045/0001-32			
	Openning Balance % of participation								
т	no of Socuritios/D	orivativos		Quant	it.	/o of participation			
, i y	Type of Securities/Derivatives			Quan	ity	Same type of Shares Total			
	Common Shar Non-Voting Sha				784 5,623	0.0000 0.0000 0.0002 0.0001			
	iten vening ene		th Move	ment	0,020	0.0002 0.0001			
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$			
Common Shares		Buy	1-Mar	204	23.85	R\$ 4,865.40			
Common Shares		Buy	2-Mar	107	24.50	R\$ 2,621.50			
Common Shares Common		Buy	3-Mar	287	26.11	R\$ 7,493.57			
Shares Common		Buy	8-Mar	·	28.02	R\$ 38,135.22			
Shares Common		Buy	10-Mar		28.79	R\$ 7,686.93			
Shares Common		Buy	15-Mar		28.04	R\$ 15,506.12			
Shares Common		Buy	16-Mar		27.31	R\$ 23,595.84			
Shares Common		Buy	17-Mar		30.61	R\$ 2,020.26			
Shares Common		Buy	22-Mar		31.22	R\$ 45,987.06			
Shares Common		Buy	30-Mar		31.16	R\$ 21,687.36			
Shares		Buy	31-Mar	809	30.08	R\$ 24,334.72			

# Edgar Filing: BANK BRADESCO - Form 6-K

Common Shares	Total		6,687		R\$ 193,933.98
Non-Voting Shares	Buy	3-Mar	1,070	24.40	R\$ 26,108.00
Non-Voting Shares	Buy	4-Mar	313	26.92	R\$ 8,425.96
Non-Voting	•		4.720	26.29	
Shares Non-Voting	Buy	8-Mar		25.85	R\$ 124,088.80
Shares Non-Voting	Buy	10-Mar	·		R\$ 84,477.80
Shares Non-Voting	Buy	15-Mar	1,130	25.20	R\$ 28,476.00
Shares	Buy	16-Mar	2,674	24.64	R\$ 65,887.36
Non-Voting Shares	Buy	21-Mar	223	27.94	R\$ 6,230.62
Non-Voting Shares	Buy	22-Mar	5,188	27.65	R\$ 143,448.20
Non-Voting Shares	Buy	28-Mar	1,764	27.54	R\$ 48,580.56
Non-Voting	•		91	28.06	
Shares Non-Voting	Buy	30-Mar	753	27.07	R\$ 2,553.46
Shares <b>Non-Voting</b>	Buy	31-Mar	21,194		R\$ 20,383.71
Shares	Total		21,194		R\$ 558,660.47
Common Shares	Sell	4-Mar	600	28.16	R\$ 16,896.00
Common Shares	Sell	7-Mar	191	27.67	R\$ 5,284.97
Common Shares	Sell	9-Mar	300	27.88	R\$ 8,364.00
Common Shares	Sell	11-Mar	82	29.89	R\$ 2,450.98
Common			850	29.67	
Shares Common	Sell	14-Mar	1 050	30.61	R\$ 25,219.50
Shares Common	Sell	18-Mar			R\$ 32,140.50
Shares Common	Sell	21-Mar		31.25	R\$ 16,343.75
Shares	Sell	23-Mar	307	30.22	R\$ 9,277.54
Common Shares	Sell	24-Mar	137	29.51	R\$ 4,042.87
Common Shares	Sell	28-Mar	501	30.48	R\$ 15,270.48
Common Shares	Sell	29-Mar	915	31.16	R\$ 28,511.40
Common Shares	<b>Total</b> Sell	1-Mar	<b>5,456</b> 130	21.94	<b>R\$ 163,801.99</b> R\$ 2,852.20

Non-Voting Shares Non-Voting Shares		Sell	2-Mar	793	22.40	D¢ 17 762 20
Non-Voting Shares		Sell	2-Mar	528	26.16	R\$ 17,763.20 R\$ 13,812.48
Non-Voting Shares		Sell	9-Mar	2,349	25.10	R\$ 58,959.90
Non-Voting Shares		Sell	11-Mar	2,694	26.77	R\$ 72,118.38
Non-Voting Shares Non-Voting		Sell	14-Mar	3,546	26.60	R\$ 94,323.60
Shares		Sell	17-Mar	394	27.85	R\$ 10,972.90
Non-Voting Shares		Sell	18-Mar	1,791	27.48	R\$ 49,216.68
Non-Voting Shares		Sell	23-Mar	3,037	26.75	R\$ 81,239.75
Non-Voting Shares		Sell	24-Mar	1,457	26.26	R\$ 38,260.82
Non-Voting Shares		Sell	29-Mar	2,716	28.02	R\$ 76,102.32
Non-Voting Shares		Total	sing Balan	19,435		R\$ 515,622.23
			Sing Dalan			% of participation
	Type of Securities/De	rivatives		Quant	ity	Same type of Shares Total
Common Shares Non-Voting Shares				2,015 7,382	0.0000 0.0000 0.0002 0.0001	

Company: B	anco Bradesco				
	Bradesco Sa	ude			
Name:	S.A		CPF/CNPJ: 92.693.118	/0001-60	
Qualification:	Controlled / Rela	ated Company			
			penning Balance		
			% of participat	ion	
Type of Secu	urities/Derivatives	sQuantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
Non-Vo	ting Shares	0		0.0000	0.0000
	ing charge		Closing Balance		0.0000
		-	% of participat	ion	
Type of Secu	urities/Derivatives	sQuantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
	oting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco SegPrev				
Name: Investimentos Ltda		CPF/CNPJ: 07.394.16	2/0001-09	
Qualification: Controlled / Related C	ompany			
	Openr	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closi	ng Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Bai	nco Bradesco	S.A.			
	Bradesco Se	eguros			
Name:	S.A		CPF/CNPJ: 33.055.146	6/0001-93	
Qualification: C	ontrolled / Rel	ated Company			
			enning Balance		
			% of participat	ion	
Type of Secur	ities/Derivative	es Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000
	0	С	losing Balance		
			% of participat	ion	
Type of Secur	ities/Derivative	es Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Vida e				
Name: Previdência S.A		CPF/CNPJ: 51.990.695	5/0001-37	
Qualification: Controlled / Related	Company			
		ning Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradescor Corretora	a de			
Name: Seguros Ltda		CPF/CNPJ: 43.338.23	5/0001-09	
Qualification: Controlled / Related C	Company			
	Ópenr	ning Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	Closi	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Ũ				

Company: Banco Bradesco S.A Bradesplan	λ.			
Name: Participações Ltd		CPF/CNPJ: 61.782.769/0	001-01	
Qualification: Controlled / Related				
		Openning Balance		
		% of participation	1	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	l	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.	Α.			
Bradseg Name: Participações S	٨	CPF/CNPJ: 02.863.655	/0001-10	
Qualification: Controlled / Relate			/0001-19	
		y Openning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradseg Promotora	a de			
Name: Vendas S.A		CPF/CNPJ: 10.428.992	2/0001-06	
Qualification: Controlled / Related (	Company			
	Open	ning Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C C	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bram - Bradesco Asset				
Name: Management S.A. DTVI	M	CPF/CNPJ: 62.375.13	34/0001-44	
Qualification: Controlled / Related Con	npany			
	Openning	Balance		
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5	Closing E	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

ntos e			
	CPF/CNPJ: 08.427.63	30/0001-59	
mpany			
Openning	Balance		
	% of participa	ation	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing E	Balance		
-	% of participa	ation	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	npany Openning Quantity 0 0 Closing E Quantity 0	CPF/CNPJ: 08.427.63 npany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 08.427.630/0001-59

Company: Banco Brade				
BSP Affi	nity			
Name: Ltda		CPF/CNPJ: 08.977.053/	0001-79	
Qualification: Controlled /	<b>Related Comp</b>	any		
		Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento				
Name: Imobiliário D166 Ltda		CPF/CNPJ: 10.430.696	/0001-40	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participation	วท	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

otal
0.0000
0.0000
otal
0.0000
0.0000
0. 0. otal 0.

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D102 Ltda		CPF/CNPJ: 14.310.24	9/0001-08	
Qualification: Controlled / Related Cor	npany			
	Openning	•		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D103 Ltda Qualification: Controlled / Related Con	CPF/0	CNPJ: 20.505.637/0001-47	
	Opennin	g Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	
Non-Voting Shares	0 Closing	0.0000 Balance	0.0000
	Closing	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D104 Ltda Qualification: Controlled / Related Corr	CPF/	CNPJ: 20.505.627/0001-01	
	Opennir	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000
C C	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D105 Ltda Qualification: Controlled / Related Corr	CPF/	CNPJ: 20.505.621/0001-34	
	Opennir	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000
Non-Voting Shares	0	0.000	0 0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D106 Ltda Qualification: Controlled / Related Cor	CPF/0	CNPJ: 20.505.658/0001-62	
	Opennin	g Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D107 Ltda Qualification: Controlled / Related Corr	CPF/	CNPJ: 20.505.963/0001-54	
	Opennir	ng Balance	
	_	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0 Closin	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000
	Ũ	0.0000	5.0000

Company: Banco B					
	mpreendimentos iários D108 Ltda led / Related Com		NPJ: 20.505.933/0001-48		
		Openning	g Balance		
			% of participa	tion	
Type of Securitie	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000
		Closing	Balance		
			% of participa	tion	
Type of Securitie	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000
Common Non-Voting Type of Securitie Common	Shares g Shares es/Derivatives Shares	Quantity 0 0 <b>Closing</b> Quantity 0	% of participa Same type of Shares Balance % of participa	0.0000 0.0000 ation 0.0000	0.0000 0.0000 Total 0.0000

S			
	CPF/CNPJ: 20.505.92	23/0001-02	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing E	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing B Quantity 0	CPF/CNPJ: 20.505.92 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.505.923/0001-02 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D110 Ltda		CPF/CNPJ: 20.505.91	2/0001-22	
Qualification: Controlled / Related Cor	mpany			
	Openning	y Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D111 Ltda		CPF/CNPJ: 20.505.903	3/0001-31	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing I	Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	5			
Name: Imobiliários D112 Ltda		CPF/CNPJ: 20.505.887	7/0001-87	
Qualification: Controlled / Related Cor	mpany			
	Openning	J Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.505.86	8/0001-50	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.505.86 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.505.868/0001-50 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento				
Name: Imobiliários D114 Ltda	ì	CPF/CNPJ: 20.505.95	2/0001-74	
Qualification: Controlled / Related Co	ompany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D115 Ltda		CPF/CNPJ: 20.505.94	.3/0001-83	
Qualification: Controlled / Related Cor				
	Openning	j Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D116 Ltda		CPF/CNPJ: 20.529.64	5/0001-23	
Qualification: Controlled / Related Con	mpany			
	Openning	y Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D117 Ltda		CPF/CNPJ: 20.529.63	6/0001-32	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D118 Ltda		CPF/CNPJ: 20.529.62	20/0001-20	
Qualification: Controlled / Related Cor	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	_	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.529.60	5/0001-81	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.529.60 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.529.605/0001-81 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D120 Ltda		CPF/CNPJ: 20.529.60	)0/0001-59	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D121 Ltda		CPF/CNPJ: 20.529.58	34/0001-02	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D122 Ltda		CPF/CNPJ: 20.594.00	0/0001-74	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos Name: Imobiliários D123 Ltda Qualification: Controlled / Related Com		CPF/CNPJ: 20.594.010/0001-00	
Qualification. Controlled / Related Con		ng Balance	
	Opennin	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0 Closin	0.0000 0.0000 g Balance	0.0000 0.0000
	Closing	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D124 Ltda		CPF/CNPJ: 20.593.98	37/0001-02	
Qualification: Controlled / Related Cor				
	Openning	j Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D125 Ltda		CPF/CNPJ: 20.593.97	/2/0001-44	
Qualification: Controlled / Related Con	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento				
Name: Imobiliários D126 Ltda	L	CPF/CNPJ: 20.593.96	\$3/0001-53	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
	-	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D127 Ltda		CPF/CNPJ: 20.593.95	53/0001-18	
Qualification: Controlled / Related Con	npany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.593.92	22/0001-67	
mpany			
Openning	Balance		
	% of participa	ition	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing E	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing B Quantity 0	CPF/CNPJ: 20.593.92 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.593.922/0001-67 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	>			
Name: Imobiliários D129 Ltda		CPF/CNPJ: 20.618.12	1/0001-09	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participation %	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D130 Ltda		CPF/CNPJ: 20.608.18	3/0001-30	
Qualification: Controlled / Related Con	mpany			
	Openning	y Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D131 Ltda		CPF/CNPJ: 20.608.00	8/0001-42	
Qualification: Controlled / Related Cor	npany			
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D132 Ltda		CPF/CNPJ: 20.607.98	0/0001-00	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D133 Ltda Qualification: Controlled / Related Con	CPF/	CNPJ: 20.609.154/0001-92	
	Opennir	ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.00	
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.00 0.00	

CPF/C	CNPJ: 20.608.465/0001-37	
	g Balance	
-	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
Closing	Balance	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
	opennin Opennin Quantity 0 0 <b>Closing</b> Quantity 0	Openning Balance       % of participation         Quantity       Same type of Shares         0       0.0000         0       0.0000         Closing Balance       % of participation         Quantity       Same type of Shares         0       0.0000         Closing Balance       % of participation         Quantity       Same type of Shares         0       0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D135 Ltda Qualification: Controlled / Related Corr	CPF/	CNPJ: 20.607.961/0001-76	
		ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A			
BSP Empreendime Name: Imobiliários D136 I Qualification: Controlled / Related	Ltda CPF/CNI	PJ: 20.608.191/0001-86	
	Openning E	Balance	
		% of participation	
Type of Securities/Derivative	es Quantity	Same type of Shares	Total
Common Shares	0	0.000	
Non-Voting Shares	0 Closing Ba	0.000	0.0000
		% of participation	
Type of Securities/Derivative	es Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.000 0.000	

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários D137 Ltda. Qualification: Controlled / Related Com		CNPJ: 20.609.143/0001-02	
		ng Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Bance					
Name: Ime	P Empreendimentos obiliários D138 Ltda Itrolled / Related Com		CNPJ: 20.608.425/0001-95		
			g Balance		
		-	% of participa	tion	
Type of Sec	urities/Derivatives	Quantity	Same type of Shares		Total
	non Shares	0		0.0000	0.0000
Non-Vo	oting Shares	0 Closing	Balance	0.0000	0.0000
		olosing	% of participa	tion	
Type of Sec	urities/Derivatives	Quantity			
.)po or ooor			Same type of Shares		Total
Comn	non Shares	0		0.0000	0.0000
Non-Vo	oting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D139 Ltda		CPF/CNPJ: 20.608.41	5/0001-50	
Qualification: Controlled / Related Cor	npany			
	Openning	J Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D140 Ltda		CPF/CNPJ: 20.608.47	'3/0001-83	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	5			
Name: Imobiliários D141 Ltda		CPF/CNPJ: 20.608.44	8/0001-08	
Qualification: Controlled / Related Cor	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.608.44	1/0001-88	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 <b>Closing</b> Quantity 0	CPF/CNPJ: 20.608.44 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.608.441/0001-88  mpany Openning Balance % of participation Quantity Same type of Shares 0.0000 0.0000 Closing Balance % of participation Quantity Same type of Shares 0.0000

Total
0.0000
0.0000
Total
0.0000
0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D144 Ltda		CPF/CNPJ: 20.618.12	8/0001-20	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.618.04	12/0001-06	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing E	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.618.04 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.618.042/0001-06 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D146 Ltda		CPF/CNPJ: 20.617.80	4/0001-41	
Qualification: Controlled / Related Con	mpany			
	Openning	y Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D147 Ltda		CPF/CNPJ: 20.617.90	9/0001-09	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	_	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D148 Ltda		CPF/CNPJ: 20.617.81	8/0001-65	
Qualification: Controlled / Related Cor				
	Openning	•		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
·	Closing	Balance		
	-	% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	S			
Name: Imobiliários D149 Ltda		CPF/CNPJ: 20.617.83	82/0001-69	
Qualification: Controlled / Related Cor	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários D150 Ltda		CPF/CNPJ: 20.617.84	2/0001-02	
Qualification: Controlled / Related Con	mpany			
	Openning	g Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D151 Ltda		CPF/CNPJ: 20.618.06	3/0001-13	
Qualification: Controlled / Related Cor	npany			
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D153 Ltda		CPF/CNPJ: 20.617.85	4/0001-29	
Qualification: Controlled / Related Cor	mpany			
	Openning			
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D154 Ltda		CPF/CNPJ: 20.617.86	\$4/0001-64	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
	_	% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D155 Ltda		CPF/CNPJ: 20.618.05	3/0001-88	
Qualification: Controlled / Related Cor				
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D156 Ltda		CPF/CNPJ: 20.618.03	4/0001-51	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
Name: Imobiliários D157 Ltda CPF/CNPJ: 20.617.879/0001-22			
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 <b>Closing I</b> Quantity 0	CPF/CNPJ: 20.617.87 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.617.879/0001-22 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D158 Ltda		CPF/CNPJ: 20.617.89 <sup>-</sup>	1/0001-37	
Qualification: Controlled / Related Cor	npany			
	Opennin	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos				
Name: Imobiliários D159 Ltda		CPF/CNPJ: 20.617.89	8/0001-59	
Qualification: Controlled / Related Cor				
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D160 Ltda		CPF/CNPJ: 20.617.74	1/0001-23	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing I	Balance		
	_	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D162 Ltda		CPF/CNPJ: 20.617.78	30/0001-20	
Qualification: Controlled / Related Cor				
	Openning			
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing I	Balance		
	_	% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D164 Ltda		CPF/CNPJ: 20.618.08	4/0001-39	
Qualification: Controlled / Related Cor	npany			
	Openning	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimentos	3			
Name: Imobiliários D165 Ltda		CPF/CNPJ: 20.618.08	9/0001-61	
Qualification: Controlled / Related Cor	npany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

	nco Bradesco S.A.				
Name:	BSP Empreendimentos Imobiliários D168 Ltda controlled / Related Com		CNPJ: 20.618.103/0001-27		
		Opennin	g Balance		
		-	% of participa	tion	
Type of S	ecurities/Derivatives	Quantity	Same type of Shares		Total
	nmon Shares	0		0.0000	0.0000
Non	-Voting Shares	0 Closing	Balance	0.0000	0.0000
		Closing	% of participa	tion	
Type of S	ecurities/Derivatives	Quantity	Same type of Shares		Total
Cor	mmon Shares	0		0.0000	0.0000
Non	-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.						
Name:	BSP Empreendimentos Imobiliários D169 Ltda Controlled / Related Com		CNPJ: 20.618.111/0001-73			
			g Balance			
		-	% of participa	tion		
Type of S	ecurities/Derivatives	Quantity	Same type of Shares		Total	
Co	mmon Shares	0		0.0000	0.0000	
Non	-Voting Shares	0		0.0000	0.0000	
		Closing	Balance			
			% of participa	tion		
Type of S	ecurities/Derivatives	Quantity	Same type of Shares		Total	
Co	mmon Shares	0		0.0000	0.0000	
Non	-Voting Shares	0		0.0000	0.0000	

CPF/0	CNPJ: 20.618.006/0001-34	
	g Balance	
-	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
Closing	Balance	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0		
	npany Opennin Quantity 0 0 <b>Closing</b> Quantity 0	CPF/CNPJ: 20.618.006/0001-34 npany <b>Openning Balance</b> Quantity Same type of Shares 0 0 Closing Balance % of participation Quantity Quantity Same type of Shares 0 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.000000 0.000000 0.000000 0.00000000

Company: Banco Bradesco	o S.A.		
BSP Empreer	ndimentos		
Name: Imobiliários D	172 Ltda C	PF/CNPJ: 20.618.020/0001-38	
Qualification: Controlled / Re	lated Company		
	Oper	ning Balance	
		% of participation	
Type of Securities/Deriv	vatives Quantity	Same type of Shares	Total
Common Shares	. 0	0.00	0.0000 0.000
Non-Voting Share	s 0	0.00	0.000 0.000
	Clos	sing Balance	
		% of participation	
Type of Securities/Deriv	vatives Quantity	Same type of Shares	Total
Common Shares	. 0	0.00	0.0000 0.000
Non-Voting Share		0.00	0.000 0.000

Company: Banco Bradesco S.A.						
BSP Empreendimentos Name: Imobiliários D173 Ltda Qualification: Controlled / Related Corr	CPF/0	CNPJ: 20.619.403/0001-20				
	Opennin	g Balance				
	-	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares	0	0.0000	0.0000			
Non-Voting Shares	0	0.0000	0.0000			
	Closing	J Balance				
		% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares	0	0.0000	0.0000			
Non-Voting Shares	0	0.0000	0.0000			

Company: Banco Brade			
•		PF/CNPJ: 20.619.386/0001-21	
		ning Balance	
	-	% of participation	
Type of Securities/D	erivatives Quantity	Same type of Shares	Total
Common Sha	res 0	0.0	0.0000 0.000
Non-Voting Sha			0.000 0.000
	Clos	ing Balance	
		% of participation	
Type of Securities/D	erivatives Quantity	Same type of Shares	Total
Common Sha	res 0	0.0	0.000 0.000
Non-Voting Sha		0.0	0.000 0.000

Company: Banco Bradesco S.A.	•		
BSP Empreendimento Name: Imobiliários R1 Ltda Qualification: Controlled / Related Co	CPF/	CNPJ: 08.977.055/0001-68	
Qualification. Controlled / Related Co		ing Balance	
	openin	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	000 0.0000
Non-Voting Shares	0	0.0	000 0.0000
-	Closir	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	000 0.0000
Non-Voting Shares	0	0.0	000 0.0000

•		
CPF/	CNPJ: 09.437.113/0001-23	
	ing Balanco	
Openni	•	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
Closin	ng Balance	
	% of participation	
Quantity	Same type of Shares	Total
0	0.0000	0.0000
0	0.0000	0.0000
	mpany Openni Quantity 0 0 <b>Closir</b> Quantity 0	CPF/CNPJ: 09.437.113/0001-23 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

<b>.</b>			
CPF/0	CNPJ: 20.529.575/0001-03		
	ng Balance		
•	•	ion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
-		0.0000	0.0000
Closin	g Balance		
	% of participat	ion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Opennii Quantity 0 0 <b>Closin</b> Quantity 0	CPF/CNPJ: 20.529.575/0001-03 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participat Quantity Same type of Shares 0	CPF/CNPJ: 20.529.575/0001-03 mpany Openning Balance Quantity Quantity 0 0 0 Closing Balance % of participation % of participation Quantity Quantity Same type of Shares 0 0.00000 0.0000 0.0000 0.0000 0.00

Company: Banco Bradesco S.A.				
BSP Empreendimento Name: Imobiliários R4 Ltda Qualification: Controlled / Related Co	CPF/C	CNPJ: 09.226.847/0001-63		
		ng Balance		
	•	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.	-		
BSP Empreendimento Name: Imobiliários R5 Ltda Qualification: Controlled / Related Cor	CPF	/CNPJ: 14.309.779/0001-36	
		ing Balance	
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closi	ng Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.			
BSP Emprendimentos			
Name: Imobiliários R 6 Ltda		CPF/CNPJ: 07.394.192/00	01-07
Qualification: Controlled / Related Co	mpany		
	Opennin	ig Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
-	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.0000 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R7 Ltda		CPF/CNPJ: 09.235.202	2/0001-97	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R8 Ltda		CPF/CNPJ: 20.529.552	2/0001-07	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R9 Ltda		CPF/CNPJ: 20.529.329	9/0001-51	
Qualification: Controlled / Related Co	mpany			
	Opennin	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.529.31	2/0001-02	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 <b>Closing</b> Quantity 0	CPF/CNPJ: 20.529.31 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.529.312/0001-02 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R11 Ltda		CPF/CNPJ: 20.556.21	9/0001-89	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R12 Ltda		CPF/CNPJ: 20.529.29	8/0001-39	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R13 Ltda		CPF/CNPJ: 20.556.20	3/0001-76	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R 14 Ltda		CPF/CNPJ: 15.011.79	3/0001-11	
Qualification: Controlled / Related Co	mpany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 14.312.33	32/0001-16	
mpany			
Openning	Balance		
	% of participa	ation	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 <b>Closing I</b> Quantity 0	CPF/CNPJ: 14.312.33 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 14.312.332/0001-16 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R16 Ltda		CPF/CNPJ: 20.556.15	53/0001-27	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R17 Ltda		CPF/CNPJ: 20.556.13	9/0001-23	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R18 Ltda		CPF/CNPJ: 20.556.22	29/0001-14	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R19 Ltda		CPF/CNPJ: 20.556.24	2/0001-73	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. BSP Empreendimentos Name: Imobiliários R20 Ltda Qualification: Controlled / Related Con		CPF/CNPJ: 07.838.653/0001-93	
		ng Balance	
	•••••	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0	0.0000 0.0000	0.0000 0.0000

S			
	CPF/CNPJ: 20.556.25	2/0001-09	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing I	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Openning Quantity 0 0 Closing I Quantity 0	CPF/CNPJ: 20.556.25 mpany Openning Balance Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.556.252/0001-09 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

S			
	CPF/CNPJ: 20.555.78	7/0001-65	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 Closing Quantity 0	CPF/CNPJ: 20.555.78 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.555.787/0001-65 mpany Openning Balance Quantity Same type of Shares 0 0.0000 0 0.0000 Closing Balance % of participation Quantity Same type of Shares 0 0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimento	S			
Name: Imobiliários R23 Ltda		CPF/CNPJ: 20.555.76	5/0001-03	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

S			
	CPF/CNPJ: 20.555.73	7/0001-88	
mpany			
Openning	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
Closing	Balance		
	% of participa	tion	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	mpany Openning Quantity 0 0 <b>Closing</b> Quantity 0	CPF/CNPJ: 20.555.73 mpany <b>Openning Balance</b> Quantity Same type of Shares 0 Closing Balance % of participa Quantity Same type of Shares 0	CPF/CNPJ: 20.555.737/0001-88  mpany Openning Balance % of participation Quantity Same type of Shares 0.0000 0.0000 Closing Balance % of participation Quantity Same type of Shares 0.0000

Company: Banco Bradesco S.A.			
BSP Empreendimentos Name: Imobiliários R25 Ltda Qualification: Controlled / Related Con	CPF/	CNPJ: 20.556.263/0001-99	
		ng Balance	
	•	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closin	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	

Company: Banco Bradesco S.A.				
BSP Empreendimentos Name: Imobiliários R26 Ltda Qualification: Controlled / Related Cor	CPF/0	CNPJ: 20.556.124/0001-65		
Qualification. Controlled / Related Cor		ig Balance		
	Openni	% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	g Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
BSP Empreendimen	tos			
Name: Imobiliários S.A	CPF/C	NPJ: 14.312.353/0001-31		
Qualification: Controlled / Related C	ompany			
	Openni	ng Balance		
	-	% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company	: Banco Bradesco S.A.				
	BSP Park Estacioname	ntos e			
Name:	Participações S.A	CPF/CI	NPJ: 14.380.636/0001-10		
Qualification	on: Controlled / Related Con	npany			
		Openning	Balance		
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
		Closing E			
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Ba	nco Bradesco S. Caetê Holdings	Α.			
Name:	Ltda	CPF/C	NPJ: 10.429.024/0001-14		
	Controlled / Related				
			Openning Balance		
			% of participation	n	
Type of Secur	ities/DerivativesQu	lantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	-		Closing Balance		
			% of participation	n	
Type of Secur	ities/DerivativesQu	lantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Caixa Beneficente dos				
Name: Funcionários do Bradesco CPF/CNPJ: 60.514.379/0001-80 Qualification: Controlled / Related Company				
	Openning	g Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0	0.0000 0.0000		
Non Voting Shares	Closing		0.0000	
	eleeling	% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total	
Common Shares Non-Voting Shares	0 0	0.0000 0.0000		

Company: Ban					
	Carson Holdi	ngs			
Name:	Ltda		CPF/CNPJ: 15.011.719	/0001-03	
Qualification: Co	ontrolled / Rela	ated Company			
		Ó	penning Balance		
			% of participati	ion	
Type of Securit	ties/Derivative	sQuantity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
	9		Closing Balance		
			% of participati	ion	
Type of Securit	ties/Derivative	sQuantity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000

Company: Ba	nco Bradesco	o S.A.			
	Celta Holdir	ngs			
Name:	S.A.		CPF/CNPJ: 07.394.072	/0001-00	
Qualification: C	Controlled / Re	elated Company			
			Openning Balance		
			% of participati	ion	
Type of Securi	ities/Derivative	esQuantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	C		Closing Balance		
			% of participati	ion	
Type of Securi	ities/Derivative	esQuantity	Same type of Shares		Total
Commo	n Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000

Company: Banco Brade				
	Serviços			
Name: Ltda.		CPF/CNPJ: 10.430.722	2/0001-30	
Qualification: Controlled	/ Related Company			
	O	penning Balance		
		% of participat	ion	
Type of Securities/Deriv	atives Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	s 0		0.0000	0.0000
		Closing Balance	0.0000	0.0000
		% of participat	ion	
Type of Securities/Deriv	atives Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares			0.0000	0.0000

Company: Banco Bradesco S. Clube Bradesco			
	ue	CPF/CNPJ: 27.142.751/0001-07	
Qualification: Controlled / Relate	d Compan		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
C C		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Bar	co Bradesco S.A.				
	Columbus Holdings				
Name:	S.A.		CPF/CNPJ: 09.092.789/0	001-22	
Qualification: C	ontrolled / Related Co	mpany			
		Opennin	g Balance		
		•	% of participatio	'n	
Type of Secur	ities/Derivatives Quar	ntity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000
	Ū	Closing	Balance		
			% of participatio	'n	
Type of Secur	ities/Derivatives Quar	ntity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ng Shares	0		0.0000	0.0000

anco Bradesco S.A.				
Companhia Securitizadora	a de			
Créditos Financeiros Rubi		CPF/CNPJ: 01.222.0	69/0001-22	)
Controlled / Related Comp	any			
	Openning Ba	alance		
		% of participa	ation	
of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Ion-Voting Shares	0		0.0000	0.0000
-	Closing Bal	ance		
	-	% of participa	ation	
of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Ion-Voting Shares	0		0.0000	0.0000
	Companhia Securitizadora Créditos Financeiros Rubi Controlled / Related Comp of Securities/Derivatives Common Shares Ion-Voting Shares of Securities/Derivatives Common Shares	Companhia Securitizadora de Créditos Financeiros Rubi. Controlled / Related Company Openning Ba of Securities/Derivatives Quantity Common Shares 0 Ion-Voting Shares 0 Closing Bal of Securities/Derivatives Quantity Common Shares 0	Companhia Securitizadora de Créditos Financeiros Rubi.       CPF/CNPJ: 01.222.00         Controlled / Related Company       Openning Balance         % of participa       % of participa         of Securities/Derivatives       Quantity       Same type of Shares         Common Shares       0       0         Ion-Voting Shares       0       % of participa         of Securities/Derivatives       Quantity       Same type of Shares         0       Closing Balance       % of participa         of Securities/Derivatives       Quantity       Same type of Shares         0       Closing Balance       % of participa         0       0       Closing Balance         0       0       % of participa         0       0       Same type of Shares         0       0       % of participa         0       0       % of participa         0       0       % of participa         0       % of participa       % of participa         0	Companhia Securitizadora de Créditos Financeiros Rubi.       CPF/CNPJ: 01.222.069/0001-22         Controlled / Related Company       Openning Balance         % of participation       % of participation         of Securities/Derivatives       Quantity       Same type of Shares         Common Shares       0       0.0000         Ion-Voting Shares       0       0.0000         of Securities/Derivatives       Quantity       Same type of Shares         % of participation       0.0000       0.0000         Ion-Voting Shares       0       0.0000         of Securities/Derivatives       Quantity       Same type of Shares         % of participation       % of participation         of Securities/Derivatives       Quantity       Same type of Shares         Common Shares       0       0.0000

Company: Banco Bradesco S.A.				
Danúbio Empreendime	ntos e			
Name: Participações Ltda		CPF/CNPJ: 07.832.01	5/0001-65	
Qualification: Controlled / Related Cor	mpany			
	Openning			
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing E	Balance		
	_	% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Band		۹.			
	Elba Holdings				
Name:	Ltda		CPF/CNPJ: 07.832.152/	0001-08	
Qualification: Co	ntrolled / Relate	d Compar	ny		
		•	Openning Balance		
			% of participation	on	
Type of Securitie	es/DerivativesQu	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
3			Closing Balance		
			% of participation	on	
Type of Securitie	es/DerivativesQu	antity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting		0		0.0000	0.0000

Company: Banco Brade				
Elvas H	olaings			
Name: Ltda		CPF/CNPJ: 15.012.087/	0001-94	
Qualification: Controlled	Related Company			
		Openning Balance		
		% of participation	on	
Type of Securities/Deriva	ativesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
<b>3 1 1</b>	-	Closing Balance		
		% of participation	วท	
Type of Securities/Deriva	ativesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares			0.0000	0.0000

Company: Banco Bradesco S.A.				
Embaúba Holdings				
Name: Ltda		CPF/CNPJ: 07.436.414	/0001-07	
Qualification: Controlled / Related Co	mpany			
		ning Balance		
	-	% of participati	ion	
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
Ũ	Closi	ing Balance		
		% of participati	ion	
Type of Securities/Derivatives Quar	ntity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Everest Empreendim	ientos e			
Name: Participações Ltda		CPF/CNPJ: 07.832.13	33/0001-73	
Qualification: Controlled / Related C	Company			
	Openning	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing B	alance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Everest Leasing S.A.				
Name: Arrendamento Mercan	til	CPF/CNPJ: 74.533.78	37/0001-93	
Qualification: Controlled / Related Con	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing I	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Bar	nco Bradesco				
	Ferrara Partici	ipações			
Name:	S.A		CPF/CNPJ: 09.225.197	7/0001-31	
Qualification: C	ontrolled / Rela	ted Company			
			enning Balance		
		-	% of participat	ion	
Type of Secu	rities/Derivative	s Quantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
Non-Vot	ting Shares	0		0.0000	0.0000
	-	Clo	osing Balance		
			% of participat	ion	
Type of Secu	rities/Derivative	s Quantity	Same type of Shares		Total
Comm	on Shares	0		0.0000	0.0000
Non-Vot	ting Shares	0		0.0000	0.0000

Company:	Banco Bradesco S.A.			
	Fundação Instituto de Molé	estias do		
Name:	Aparelho Digestivo e da Nu	utrição	CPF/CNPJ: 61.062.212/00	01-98
Qualification	n: Controlled / Related Comp	any		
		Openning Balan	ICE	
			% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.00	0.0000 00
	Non-Voting Shares	0	0.000	0.0000 00
	-	Closing Balance	e	
			% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.000	0.0000 00
	Non-Voting Shares	0	0.00	0.0000 00

Company: Banco Bradesco S.A. Ganant Corretora d				
Name: Seguros Ltda		CPF/CNPJ: 02.447.678	3/0001-42	
Qualification: Controlled / Related (				
	Open	ining Balance		
	-	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Ibi Corretora de	Α.		
Name: Seguros Ltda		CPF/CNPJ: 56.348.618/0001-	00
Qualification: Controlled / Related	d Company		
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	00 0.0000
Non-Voting Shares	0	0.00	00 0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.00	00 0.0000
Non-Voting Shares	0	0.00	00 0.0000

Company: Banco Bradesco S.A.				
Imagra Imobiliária Name: Agrícola Ltda	e	CPF/CNPJ: 42.362.939	0/0001-46	
0	Company	011/01010. 42.002.000	5/0001 40	
Qualification: Controlled / Related Company				
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
č	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Instituto Assisten			
Name: Alvorada		CPF/CNPJ: 59.055.467/000	-81
Qualification: Controlled / Related			
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.000 0.0000
Non-Voting Shares	0	0.0	0.000 0.0000

Company: Banco Brades	co S.A.			
lpê Holdin	igs			
Name: Ltda		CPF/CNPJ: 07.813.336/	0001-12	
Qualification: Controlled / F	Related Compa	iny		
		Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bra	a <b>desco S.A.</b> a Holdings			
Name: S.A.	roluings	CPF/CNPJ: 08.503.701/0	001 55	
			1001-55	
Qualification: Controlle	ed / Related Comp	any		
		Openning Balance		
		% of participation	n	
Type of Securities/De	rivativesQuantity	Same type of Shares		Total
Common Share	es 0		0.0000	0.0000
Non-Voting Shar	res 0		0.0000	0.0000
i i en i en ig en a		Closing Balance	0.0000	
		% of participation	n	
Type of Securities/De	rivativesQuantity	Same type of Shares		Total
Common Share	es 0		0.0000	0.0000
Non-Voting Shar			0.0000	0.0000

Company: Banco Brade				
Name: S.A.	Juliys	CPF/CNPJ: 14.370.283/	/0001-78	
			0001-70	
Qualification: Controlled /				
	(	Openning Balance		
		% of participation	on	
Type of Securities/Deriva	tivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		Closing Balance		
		% of participation	on	
Type of Securities/Deriva	tivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Brades Lyon Hole				
,	ungs		0001 00	
Name: Ltda		CPF/CNPJ: 07.131.859/	0001-89	
Qualification: Controlled /	Related Company			
	(	Openning Balance		
		% of participation	on	
Type of Securities/Derivat	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3	-	Closing Balance		
		% of participation	on	
Type of Securities/Derivat	ivesQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Br	<b>adesco S.A.</b> acás Holdings			
Name: Ltda	U	CPF/CNPJ: 07.444.731	/0001-75	
			/0001-75	
Qualification: Controll	ed / Related Compan	5		
		Openning Balance		
		% of participati	on	
Type of Securities/D	erivatives Quantity	Same type of Shares		Total
Common Sha	res 0		0.0000	0.0000
Non-Voting Sha	ares 0		0.0000	0.0000
5		Closing Balance		
		% of participati	on	
Type of Securities/D	erivatives Quantity	Same type of Shares		Total
Common Sha	res 0		0.0000	0.0000
Non-Voting Sha			0.0000	0.0000

Company: Banco Bra	<b>idesco S.A.</b> ou Holdings			
Name: Ltda	u Holuliys	CPF/CNPJ: 15.011.796/00	01-55	
Qualification: Controlle	d / Related Compa			
		Openning Balance		
		% of participation		
Type of Securities/De	rivativesQuantity	Same type of Shares		Total
Common Share	es 0		0.0000	0.0000
Non-Voting Shar			0.0000	0.0000
Ũ		Closing Balance		
		% of participation		
Type of Securities/De	rivativesQuantity	Same type of Shares		Total
Common Share	es 0		0.0000	0.0000
Non-Voting Shar			0.0000	0.0000

Company: Banco Bradesco S.A.				
Maracay Empreendi	mentos			
Name: Imobiliários Ltda.	CPF/CN	IPJ: 15.011.274/0001-53		
Qualification: Controlled / Related C	Company			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
	-	% of participa	ltion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Marília Reflorestamento e					
Name: Agropecuária Ltda.	CPF/C	NPJ: 02.282.723/0001-56			
Qualification: Controlled / Related Company					
	Openning	y Balance			
		% of participation	1		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.	.0000 0.0000		
Non-Voting Shares	0	0.	.0000 0.0000		
-	Closing	Balance			
	-	% of participation	I		
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.	.0000 0.0000		
Non-Voting Shares	0	-	.0000 0.0000		

Company: Banco Bradesco S. Marselha Holdir				
Name: Ltda	0	NPJ: 08.427.540/0001-68		
Qualification: Controlled / Relate				
		penning Balance		
		% of participati	on	
Type of Securities/Derivatives (	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	(	Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Mediservice Operadora	de			
Name: Planos de Saúde S.A. CPF/CNPJ: 57.746.455/0001-78 Qualification: Controlled / Related Company				
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	alance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban	<b>co Bradesco S.A.</b> Miramar Holdings				
Name:	S.A.	CPF/C	NPJ: 09.060.272/0001-51		
	ontrolled / Related (				
		• •	, Openning Balance		
			% of participatio	n	
Type of Securit	ies/Derivatives Qua	antity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	g Shares	0		0.0000	0.0000
	0		Closing Balance		
			% of participatio	n	
Type of Securit	ies/Derivatives Qua	antity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	g Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Mississipi Empreendir	nentos e			
Name: Participações Ltda	CPF/CN	NPJ: 08.977.046/0001-77		
Qualification: Controlled / Related Co	ompany			
	Openning E	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing Ba	alance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Módulo Assessoria				
Name: Seguros Ltda.		CPF/CNPJ: 53.409.49	6/0001-18	
Qualification: Controlled / Related	Company			
	Openn	ing Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closi	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A. MPO - Processadora de Name: Pagamentos Móveis S.A Qualification: Controlled / Related Com	l I	CPF/CNPJ: 14.882.376/0001-81	
Openning Balance			
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
	Closing	g Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: I	Banco Bradesco S.A.			
	MultiPensions Bradesco - F	undo		
Name:	Multipatrocinado de Previdé	ência Privada	CPF/CNPJ: 02.866.728/0001-	-26
Qualification	: Controlled / Related Compa	any		
		Openning Balance	9	
			% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
	-	<b>Closing Balance</b>		
		-	% of participation	
Тур	e of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000

	<b>co Bradesco S.A.</b> NCD Participações					
	Ltda		CPF/CNPJ: 48.594.139/	0001-37		
	ntrolled / Related Co	mnany		0001 07		
	Openning Balance					
			% of participation	on		
Type of Securiti	ies/Derivatives Quan	tity	Same type of Shares		Total	
Common	Shares	0		0.0000	0.0000	
Non-Votin	g Shares	0		0.0000	0.0000	
		Closing	Balance			
			% of participation	วท		
Type of Securiti	ies/Derivatives Quan	tity	Same type of Shares		Total	
Common Non-Votin		0 0		0.0000 0.0000	0.0000 0.0000	

Company: Banco Bradesc Neon Holdi				
Name: Ltda.	ngs	CPF/CNPJ: 07.228.194	/0001 26	
		GFF/GNFJ. 07.220.194	/0001-20	
Qualification: Controlled / Re	elated Company			
	Op	penning Balance		
		% of participati	on	
Type of Securities/Derivativ	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· · · · · · · · · · · · · · · · · · ·		losing Balance		
	0	•		
		% of participati	on	
Type of Securities/Derivativ	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Nova Cidade de Deus	S			
Name: Participações S.A.		CPF/CNPJ: 04.866.46	2/0001-47	
Qualification: Controlled / Related Co	ompany			
	Opennir	ng Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closin	g Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company:	Banco Bradesco S.A.					
	Nova Marília Administraçã	o de Bens				
Name:	Móveis e Imóveis Ltda.		CPF/CNPJ: 02.335.94	40/0001-67	7	
Qualification	n: Controlled / Related Comp	any				
	Openning Balance					
			% of participa	ation		
Туре	e of Securities/Derivatives	Quantity	Same type of Shares		Total	
	Common Shares	0		0.0000	0.0000	
	Non-Voting Shares	0		0.0000	0.0000	
	-	Closing Bala	nce			
		C C	% of participa	ation		
Туре	e of Securities/Derivatives	Quantity	Same type of Shares		Total	
	Common Shares	0		0.0000	0.0000	
	Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S.A Novamed Gestão			
Name: Clínicas.		CPF/CNPJ: 22.485.085/0001-88	
Qualification: Controlled / Related			
	(	Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Ũ		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Compa	ny: Banco Bradesco S.A.				
	Promosec Companhia Sec	uritizadora			
Name:	de Créditos Financeiros		CPF/CNPJ: 04.755.953	/0001-10	C
Qualifica	ation: Controlled / Related Compa	any			
		Openning Bal	ance		
			% of participation	on	
٦	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0	0	.0000	0.0000
	Non-Voting Shares	0	0	.0000	0.0000
	-	Closing Bala	ince		
		-	% of participation	on	
F	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0	0	.0000	0.0000
	Non-Voting Shares	0	-	.0000	0.0000

Company: Banco Bradesco S.	۹.		
PTS Viagens e			
Name: Turismo Ltda.		CPF/CNPJ: 00.580.230/0001-77	
Qualification: Controlled / Related	d Company	/	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
Quixaba Empreendime	ntos e			
Name: Participações Ltda		CPF/CNPJ: 09.470.65	50/0001-75	
Qualification: Controlled / Related Cor	npany			
	Openning			
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing E	Balance		
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.	Α.			
Quixaba				
Name: Investimentos S	.A	CPF/CNPJ: 10.212.743/	/0001-89	
Qualification: Controlled / Relate	d Company	y		
		Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Reno Empreendimente	os e			
Name: Participações Ltda		CPF/CNPJ: 07.838.63	6/0001-56	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closing	Balance		
		% of participa	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban					
	Rubi Holdings	5			
Name:	Ltda		CPF/CNPJ: 04.747.619/	/0001-15	
Qualification: Co	ontrolled / Rela	ted Company			
			penning Balance		
			% of participati	on	
Type of Securiti	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin	a Shares	0		0.0000	0.0000
	9 0		Closing Balance		010000
			% of participati	on	
Type of Securiti	es/Derivatives	Quantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Votin		0		0.0000	0.0000

Company: Banc	o Bradesco S.	Α.			
c.	Scopus Industria	al			
Name: S	S.A.		CPF/CNPJ: 09.227.001	/0001-48	
Qualification: Cor	ntrolled / Relate	d Company			
		Op	penning Balance		
		-	% of participat	ion	
Type of Securitie	es/DerivativesQ	uantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000
		С	losing Balance		
			% of participat	ion	
Type of Securitie	es/DerivativesQ	uantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A			
Scopus Soluções	sem	CPF/CNPJ: 14.380.750/0001-4	N N
Name: TI Ltda			)
Qualification: Controlled / Related	d Company	/	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000 0
Non-Voting Shares	0	0.000	0.0000 0
C C		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.000	0.0000 0
Non-Voting Shares	0	0.000	0.0000

Company: Banco Bradesco S.A.	077			
Serel Participações Name: Imóveis S.A.	em	CPF/CNPJ: 72.712.20	1/0001-22	
Qualification: Controlled / Related C	Company			
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Non Voting Chares	U U		0.0000	0.0000

Company: Banco Bradesco S.A.				
Settle Consultoria, Ass	sessoria e			
Name: Sistemas Ltda		CPF/CNPJ: 62.575.37	/8/0001-70	
Qualification: Controlled / Related Co	mpany			
	Openning	Balance		
		% of participa	ition	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	ıtion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

<b>Company: Banco Bradesco S.A.</b> ShopFácil Soluções e	m			
Name: Comércio Eletrônico S Qualification: Controlled / Related Co	S.A.	CPF/CNPJ: 14.370.34	42/0001-08	
Qualification. Controlled / Related Of	Openning	Balance		
	e period	% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing E	Balance		
		% of participa	ation	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Br	<b>adesco S.A.</b> D Holdings			
Name: S.A.	2 Holdings	CPF/CNPJ: 60.688.256/000	01-65	
Qualification: Controlle	ed / Related Comp	bany		
		Openning Balance		
		% of participation		
Type of Securities/De	erivativesQuantity	Same type of Shares		Total
Common Shar	es O		0.0000	0.0000
Non-Voting Sha	res 0		0.0000	0.0000
Closing Balance				
		% of participation		
Type of Securities/De	erivativesQuantity	Same type of Shares		Total
Common Shar	es O		0.0000	0.0000
Non-Voting Sha			0.0000	0.0000

Company: Banco Bradesco	S.A.				
Taíba Holding	js				
Name: Ltda.		CPF/CNPJ: 15.012.611	/0001-27		
Qualification: Controlled / Rela	ted Company				
Openning Balance					
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
0	Closing Balance				
		% of participati	on		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S				
Tandil Holding	js			
Name: Ltda.		CPF/CNPJ: 15.010.931	/0001-48	
Qualification: Controlled / Relat	ed Company			
		penning Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	-	Closing Balance		
% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0 0		0.0000	0.0000
Non Voling Charles	U		0.0000	0.0000

Company: Banco Bradesco S	S.A.			
Tapajós Holdii	ngs			
Name: Ltda		CPF/CNPJ: 08.427.617	//0001-08	
Qualification: Controlled / Relat	ed Company			
	Op	enning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Cl	osing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000